Name

Fill in the blanks of the fact

What is the perimeter of the

Write the number in standard form.

What is the value of the

family. shape below? Calvin wants a fence for his i igi
underlined digit?
13 + =20 @ 3,000 +400+70+9 rectangular garden. If the length of
the garden is 6 yards and the width
a. 13+20=33 on & is 3 yards, how many yards of 7,§12
b. 20-13 = 7 L fencing will he need?
c. 20-7 =13
d 13-7=6
What is the area of the figure? Which shape is a hexagon? Which equation can be used to 9+4=13

OJOROID

a. ShapeA c. ShapeC
b. ShapeB d. ShapeD

341,708

Select the word form of the number.

a. Three hundred forty-one
thousand, seven eight

b. Three hundred forty-one

thousand, seven hundred eight

Three four one seven zero eight

d. Three hundred forty-one,
seventy-eight

0

solve the problem below?

32 + =54
a. 32+54=76
b. 54-32=22
c. 54-22 =32
d. 32-22 =10

What problem can be used
to check the answer?

a. 4-9 c. 4+9
b. 13-4 d. 9-13

What number is shown below?

P

Is it an even amount or
odd amount of smiley

faces?
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Free
Space

Which shape is a quadrilateral?

GADL

c. ShapeC
d. ShapeD

a. Shape A
b. Shape B

What is the value of the underlined
digit?

776,352

Jackie has 15 more books
than dolls. If she has 24
books, how many dolls
does she have?

What is the perimeter of the
rectangle below?

24cm

Circle the shapes that have

symmetry.
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What is the expanded form of
the number?

917

900 +100+7

. 900+ 17

900 + 10 +7

. 800+100+10+7
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Name the shape.

Cube
Cone
Cylinder
Sphere

anow

Fill in the blank.

54+37= +54

Which expression can be used to
find the area of the figure?

EEEE
HH
a. 5+5 c. 8+2
b. 2+2 d 2x4

Find the area of the rectangle|
(Area = Length x Width)

1in| I

24in

Draw the lines of symmetry.

Patrick has 10 more
baseballs than basketballs.
If he has 13 baseballs, how
many basketballs does he
have?
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